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Read the following instructions carefully before you begin to answer the questions. This Booklet contains
81 questions of which 80 are of objective type with multiple choice answers on Computer Basic Skills &

Language; but question No. 51 to 70 carry 1/2 mark each and No.71 to 80 carry one mark each. The 81%
question is subjective asking you to write an Essay in Odia language in separate answer sheet and carries 10
marks.
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This Booklet contains in all 81 questions.

All questions are compulsory and the distribution of mark has
been indicated above. )

Before answering any question, checkup the Booklet and ensure
that it contains 12 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator shall supply you one blank OMR and one

Subjective Answer Sheet separately. Write your Roll Number,
Question Booklet Serial Number and Question Booklet Series
Code in the spaces and darken the corresponding circles/ovals
provided therein carefully by black/blue ball point pen only. You
must write the name, date and center of examination and put
your full signature in the appropriate spaces provided therein
before answering any question.

. A machine will read the coded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which

your Answer Sheet will not be evaluated and Zero mark will be
awarded.

Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side
of the Answer Sheet corresponding to the relevant question
number by using Black/Blue ball point pen only. Answers not
shown by black/blue ball point pen shall not be awarded any
mark.

. Failure to hand over the Answer Sheet to the Invigilator before

leaving the examination hall/room will make you liable to penal
action.

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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10.

BASIC COMPUTER SKILL

The difference between memory and storage is that the memory is

(A) temporary, permanent
(C) permanent, temporary

and storage is

(B) slow, short
(D) None of these

Which of the following holds the Rom, CPU, RAM & expansion cards.

(A) hard disk (B) floppy disk

(C) mother board (D) None of these

The language that the computer can understand and execute is called

(A) Machine Language
(C) Application Software

A floppy disk contains.

(A) Circular tracks only
(C) Both circular tracks & sectors

Information retrieval is faster from.

(A) Floppy disk (B) Magnetic tape

Operating system is
(A) A collection of hardware components

(C) A collection of input-output devices.

Operating System:-

(B) System Program
(D) None of these

(B) Sectors only
(D) None of these

(C) Hard disk

(D) None of these

(B) A collection of Software routines
(D) None of these.

(A) Link a Program with the subroutines it references
(B) Provides a layered, user-friendly interface

(C) Enables a Programmer to draw a flow chart

(D) None of these

Execution of two or more programs by a single CPU is known as:
(A) Multi Processing

(B) Time Sharing (C) Multi Programming (D) None of these

Modem stands for:

(A) A type of Secondary memory
(C) Modulator demodulator

(B) Main frame operating device memory
(D) None of these

Bug means-

(B) A difficult syntax error in a program
(D) None of these

(A) A logical error in a program
(C) Documentary programs with efficient documentation
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

The errors that can be pointed out by the compiler are:

(A) Syntax errors (B) Semantic errors (C) Logical errors (D) None of these

The communication line between the CPU, memory and peripheral is called a:

(A) Bus (B) Line (C) Media (D) None of these

Example of non-numerical data is:-

(A) Employee address  (B) Bank balance (C) Examination score (D) None of these

One thousand Bytes represent a:

(A) Megabyte (B) Giga byte (C) Kilobyte (D) None of these

A step by step procedure used to solve a problem is called.

(A) Operating system (B) Algorithm
(C) Application program (D) None of these

The term “baud” is a measure of the:

(A) Speed at which data travels over the communication line
(B) Instruction execution time

(C) Memory capacity

(D) All of the above

A bootstrap is a:

(A) Memory device

(B) Small initialization program to start up a computer
(C) Device to support the computer

(D) An error correction technique

Personal Computer can be connected together to form a

(A) Server : (B) Super Computer (C) Network (D) Enterprise
The main component of a Desktop PC is the which houses the computer’s critical parts.
(A) Processor (B) Memory (C) Keyboard (D) System case

The most important or powerful computer in atypical network is-

(A) Desktop (B) Network Client (C) Network Server (D) Network Station
The is used by the tablet PC to write on the screen.
(A) finger (B) mouse (C) digitizer (D) stylus
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22.

23.

24,

26.

27.

28.

29.

30.

31.

32.

33,

Which of the following is the largest unit of storage?

(A)KB (B) MB (C) TB (D) GB

The contents of _ are lost when the computer turns off.

(A) storage (B) input (C) output (D) memory
Ctrl, Shift and Alt are called keys.

(A) adjustment (B) function (C) modifier (D) alphanumeric

To move the beginning of a line of text, press the _ key.

(A) page down (B) page up (C) enter (D) home
The determines how long you must hold down an alphanumeric key before the key board will
repeat the character.

(A) strike rate (B) repeat rate (C) default rate (D) threshold rate

The traditional mechanical mouse uses a to track the pointer position on the screen.

(A) light sensor (B) wheel (C) ball (D) ruler
The key will lunch the Start button.
(A) Esc (B) Shift (C) Windows (D) Shortcut

The pattern of printed lines on most products are called

(A) Price (B) Bar code (C) Scanner (D) OCR
Speech recognition programs must eliminate __ before they can successfully recognize the spoken
sounds.

(A) jargon (B) dialects (C) accents (D) background noise

Kiosks use __to simplify the interface.

(A) track pads (B) touch screens (C) trackballs (D) voice input

The 1940 World Fair had a robot named .

(A) Robinson (B) Model B-9 (C) Electro (D) Robbie
The type of monitor is common on desktop computers. It looks much like a standard
Television.

(A) Cathode-ray-tube (B) Flat- panel © Monbchrome (D) Projector
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36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

LCD monitor often have a smaller  than CRT monitors.

(A) refresh rate (B) viewing angle (C) color depth (D) price
Dot matrix and band printers are ___ Printers.
(A) Laser (B) Impact (C) Ink jet (D) Thermal
Which of the following measures the speed of dot-matrix Printers
(A) PPM (B) dpi (C)CPS (D) Ipm
In a laser printer, the transfers the image to the paper.
(A) laser (B) roller (C) toner (D) drum
For a home user who has casual printing needs, ___ is the most important specification of a printer .
(A) speed (B) cost of use (C) resolution (D) paper size

The computers use the number system to store data and perform calculations.

(A) decimal (B) hexadecimal (C) binary
There are bits in one byte.
(A)4 B)8 ©) 16

The performs simple math for the CPU.

(A) ALU (B) DIMM (C)BUS
Removing a program properly requires it
(A) deleting (B) removing (C) disabling

A 500 MB file compressed to 125 MB enjoys a ___ compression ratio.
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(D) octal.

(D) 32

(D) Register.

(D) uninstalling

- (A)2:01 (B) 3:01 (C)4:01 (D) 5: 01
Medical devices often run a operating system.

(A) real time (B) single user (C) multiuser (D) network
In modern operating system, the ___ feature has dramatically improved user productivity.

(A) copy and paste (B) command line interface

(C) multitasking (D) intrusion detection
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35.

The program that allows the OS to work with a Printer or a Video card is a/an

(A) utility (B) driver (C) applet (D) system call
The protects your system from hackers.
(A) snort (B) backup (C) anti-virus (D) firewall

The power of spreadsheets lies in its

(A) cells (B) work sheets (C) labels (D) formulas
Animation effects in modern movies are often created with Programs.
(A) JPG (B) CAD (C) Ccal (D) IGF

Engineering designs are usually created using _ software.

(A) CGI (B) paint (C)CAD (D) draw

LANGUAGE TEST
Direction: Read the following questions along with the instructions given against each carefully
and pick out the correct one of the four answers suggested as A, B, C & D.

My sister who is doctor in foreign country has written useful article on dentistry. (Select the
correct article/s in sequence to rectify the sentence if required)

(A)a,a&a (B) a, an & the (C)a,a& an (D) not required
Disappointed my performance, my boss turned my application for bonus.  (Select
the correct preposition/s to fill the blanks)

(A)at & of (B) with & down (C) of & off (D) on & away

The plane over the city and after sometime no more. (Supply the correct forms
of verb/s to fill the blanks)

(A) flies & seen (B) flew & was seen

(C) flown & was not seen (D) was flying & saw
Usually Nirmala white shirts, but today she a green one. (Supply the correct
verbs in sequence to fill up the gaps)

(A) wear & i1s wearing (B) wears & is wearing

(C) wearing & worn (D) wore & has worn
She there with tears down her checks. (Supply the correct verb/s
to fill the blanks)

(A) stood & rolling (B) stands & drop

(C) stand & forming (D) was standing & shedding
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56.

57.

38.

59.

60.

61.

62.

63.

64.

Keeping in mind the........... to develop the sector, the government has actively solicited

foreign......... (Supply the correct nouns to fill the gaps)
(A) importance & money (B) need & investment
(C) objective & saving (D) view & credit
It is too noisy here. Can we go somewhere ? (Choose the appropriate degree of

‘quiet’ to fill up the gap)

(A) quieter (B) quieter than (C) most quiet (D) quiet
Select the correct question tag for the statement—You are 12 years old, 4
(A) are you (B) aren’t you (C) didn’t you (D) did you

After driving Professor Kumar to the museum, she dropped him at his hotel. (Select the
correct passive form)

(A) After being driven to the museum, Professor Kumar was dropped at his hotel by her.
(B) Professor Kumar was being driven dropped at his hotel.

(C) After driving Professor Kumar to the museum she had dropped him at his hotel.

(D) After she was driven Professor Kumar to the museum she dropped him at his hotel.

Do you know my name? (Select the correct passivé form)

(A) Is my name known to you? (B) Let me know your name.
(C) Has my name known to you? (D) You know my name.

He said to me, “Are you well?” (Select the correct indirect speech)

(A) He told me whether you were well. (B) He asked me if I was well.
(C) He asked me that I was well. (D) He asked me if I am well.

He forbade me to smoke. (Select the correct direct speech)

(A) He told me, “I did not smoke”. (B) He said to me, “You should not smoke”.
(C) He said to me, “Do not Smoke”. (D) He said me to avoid smoking.

On account of the week long strike, the factory was forced to close and
A B
the next month’s shipment will delay. (Choose the incorrect underlined part)
C D

Yesterday at the meeting very well she spoke. (Select the sentence rearranged in right order)

(A) She spoke at the meeting very well yesterday.
(B) She spoke very well at the meeting yesterday.
(C) She spoke yesterday very well at the meeting.
(D) She very well spoke at the meeting yesterday.
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67.

68.

69.

70.

L

72.

Identify the wrongly matched pair.

(A) Congregation Congratulation
(B) Tranquility Placidity

(C) Solitude Seclusion

(D) Mob Mass

PERTINENT (Choose the word which is OPPOSITE in meaning)

(A) Indifferent (B) Detached (C) Determined (D) Irrelevant

Which of the following words has correct spelling?

(A) Unintelligible (B) Indellible (C) Ilegible (D) Incorigible

He said God bless you with all success (Pick out the correct punctuation marks in sequence to
complete it)

A. & ? ®B), & ? (G820 D): & «”
His first failure did not him from another attempt. (Supply the correct verbs to fill
the gaps)

(A) forbid & take (B) deter & making (C) defeat & try (D) urge & start

Let the decisions be carried out. (Select the correct active form)

(A) The decisions must carry out. (B) Decisions should be carried.
(C) Carry out the decisions. (D) You should keep carry out the decisions.

INSTRUCTIONS: Read the following sentences in English quoted from a piece of news and
pick out its most appropriate Odia version from the four options given
below each of themas A, B, C & D.

Pakistani girl Saba was suffering from a rare medical disorder.

(A) 66lITN 24 YINTIS 6AITER ARVIR ARD AU ARSI YR |
(B) QIGgin1 82 AIQI 9@ FaR YCS AYRSIER UGS Al |

(C) 99 2Qe YW QISR AIFAR T2 AR 1SS 62IRAM |

(D) TR TR AQl FOR YIS AANVIR PSERIST I |

Recently, she returned home after ordinary Mumbai folk crowd-funded her treatment here.

(A) G AN ARJIQE 8RG! @ LHHIER MOIER FIQ TR % YRR U6R 62 F6@9 JMNIPR @Rl |
(B) 906Q (IR @RS @ IR 6Q0I6Q FIQ 0@ AIF Q2R TR 6Q AQg TN |

(C) @F LHIER AR FI6e FR6l SR F@Q S 62QNTER 62 VG 6TAR |

(D) @g A°SMIEQ IR ARB ERIKFIEH IR TRA HS 67URF TER 6 FF QARG AR |
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74.

75.

76.

71.

78.

79.

That very day, Shiv Sena attacked Sudheendra Kulkarni.

(A) 692 @@ dal 629! YUY QRAIEG AFAE KB |

(B) Q62ig qmaidi O 632 & §Q1 63R1q A F6R |
(C) R, 69% @0 596201 Y6uIg QRAILIQ IS KER |
(D) gsdig graId1g OR 628 8¢ 891 6241 2IgAS @83 |

The reason was, Kulkarni was hosting a former Pakistan foreign minister’s book launch.

(A) 104 627, R68 TIFAIR 636@8R 191 QRAIGIE JR V6FIPFR FRICAIT ZCAITE @9T |

(B) @104l g, @RaId] @64 geor AIRAIR 656080 ARIT 2@ Q6FIORR FRAEAIT ACASR FQEER |
(C) RI0¢, QAR 62T@ K64 ARAIR ARIE IR AEFIFNR PRICAIT ACARE FRSIQ YR |

(D) QI94 I, ARLIGT 6628 ‘?m YR GIF 2@ REYCRR FRICAUT AR SR6R |

But the love and care children like Saba have found in Indian hospitals carries more weight than the
Sena.

(A) @3 0019 FRYAURNER AR 8F FFLI6R AIRYS! 692 B 62Q (AR JFS MR ATV 2@ YRR
QLR X6 |

(B) Q10019 FAURAER AIGI 9F FFI6R 69RYQ 692 @ 69 6ARIQ ATV AR YRR |

(C) DIRGIA CIRATIFIER 6271 87 JGFIER ARSI 692 G §8I ARIF JRFE QISR 26 2RYS RIS |

(D) 9I0e6a AISI 9F FGAISE TR 692 B 6231 6AIQ QIR 26TV ¥ JRAYS 26T |

INSTRUCTIONS: Read the following sentences in Odia quoted from a piece of narrative and
pick out its most appropriate English version from the four options given below
each of them as A, B, C & D.

62 @R 2lIF1 AQ OIQ 6TRQ U6Q @F1 ARG 671R R AIVIS 62IRG |

(A) I had not met you after you returned from our home that day.

(B) I have not been able to meet you after you had returned from our home.
(C) I could not met you after you have returned from our home on that day.
(D) I have not met you after you returned from our home on that day.

261 3l 4R A1 AIN ¢ §SOg! Q1A AOIRYR, AINYS FAD?

(A) I sent message of good wishes after getting your marriage invitation, you must have received it?

(B) After getting your marriage invitation, [ had sent message of good wishes, you have received certainly?
(C) I have send message of good wishes on receiving your marriage invitation, you might have received?
(D) Receiving your marriage invitation I send message of good wishes, have you received? -

SRR RIS ¢ YT AR G671 968 AP UY YIS 62T |

(A) It is leamnt you have been appointed a high placed officer.

(B) I have learnt from the newspaper you had been a high ranked officer.
(C) Ilearnt from the newspaper you have become a highly placed officer.
(D) Learnt from newspaper you had become a highly placed officer.

g1ea Q18 @2e Y2 RITR! Ie° ¢ AGER 2F) TR CLARYR 62TFQ |

(A) I were happy to learn the news and was very delighted that day.

(B) I was happy to learn the news and overwhelmed with joy on that day.
(C) Glad to learn the news and had overwhelmed with delight on that day.
(D) I had been happy to learn the news and overwhelm with joy on that day.
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81.

(A) I could not but offer my countless obeisance and gratitude to God.
(B) I could not covey my countless salutations and obedience to God.
(C) I could offer my boundless devotion and thanks to God.

(D) I could but offer my unending reverence and thankful to God.

FeRaIeRT: TRUARYS] I6B AR TR6A 6Fa H60d FOITR GF FIF 8 6aIR YR 6RY YIS 9808 6
ISR F6CIB 6R16T FIAER §& B IR BB AUTIER IR AOF 6RY |

-10 que
2919 ARG QAgQl B8 AGPPR IR YAIE AL 6RS |
@
Gaq 964 FRITIR @ QUFRIAIR A6aed £ gAIFe 28R IGedR AHETE Y@ gUIFt TR 990 99 |
@4l
QG QUi 6RTNIQ AUCIUG! G VRIS |
%k sk k *X** sk kok
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